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PART A: Grammar and Vocabulary bt glay S |
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct T owy |
choice on your answer sheet. [ 200 |
£ r' P
76- After his retirement, the former university professor lost all the money ... throughout e | _
his working life. \ — J
1) had gained 2) he had gained
3) he would gain 4) and gained it

77- The report from the hospital claimed that a study on a group of 354 girls had found those ... others at
age 3 reached puberty by age 9.

1) who were the fattest 2) whom were fatter than
3) whom were the fattest 4) who were fatter than

78- Using public transport as the main means to move around the city ... traffic and help to have a
healthier environment by improving air quality.

1) reduces 2) reduce
3) can reduce 4) is reduced

79- If weather forecasters could provide warnings of storms on time, space agencies ... to take steps to
protect their satellites.

1) will be able 2) would able
3) would be able 4) were able

80- Although we had expected a fantastic weekend, we didn’t enjoy our holiday since thousands of people
... the seaside last weekend, and it was too crowded.

1) stuck to 2) flocked to
3) surrounded by 4) burst into

81- Before turning on the air conditioner in summer for the first time, check that its filter is ... installed
and isn’t too dirty.

1) directly 2) voluntarily
3) probably 4) properly

82- The woman who was being interviewed didn’t give an immediate reply and said, “I’d need some time
to ... the job offer before I make the decision.”

1) remind 2) confirm
3) achieve 4) consider

83- The police officers are confident that they have finally ... the man who is responsible for Jack’s death.

1) founded 2) injured 3) appreciated 4) identified
84- Among all those people at the science conference, he was one of the most ... members of the academic
community.
1) distinguished 2) recreational
3) emphatic 4) similar

85- I think of my clothes as a/an ... of my personality. When people look at me and my clothes, they can get
an idea of the kind of person I am.

1) combination 2) inspiration

3) reflection 4) abbreviation



U”:“'» V0 :dmio e .
a eSS0

86- It is interesting to know that his writings range from ... to modern art and include a study of

Giorgione’s paintings.
1) domestic 2) ancient
3) available 4) frequent

87- Despite the fact that “...,” I missed Thomas a lot since he left the country, and I even feel like I love

him a bit more than before.
1) absence makes the heart grow fonder
2) out of sight, out of mind
3) a burnt child dreads the fire
4) two heads are better than one

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your

answer sheet.

Americans go through 100 billion grocery bags every year. One estimate suggests that Americans use
more than 12 million barrels of oil each year just ...(88)... plastic grocery bags that end up in ...(89)...
after only one use and then take centuries to decompose. Paper bags are a problem, too.

To ensure that they are strong enough to ...(90)... a full load, most are produced from virgin paper,
which requires cutting down trees that ...(91)... carbon dioxide. It is estimated that about 15 million trees
are cut down annually to produce the 10 billion paper bags we go through each year in the United States.
Make it a point to carry a reusable bag with you when you shop, and then when you ...(92)..., “Paper or
plastic?”, you can say, “Neither.”

88- 1) they produce 2) to produce 3) producing 4) to be produced
89- 1) landfills 2) alternatives 3) demands 4) deliveries

90- 1) hold 2) save 3) spare 4) access

91- 1) spoil 2) pollute 3) absorb 4) replace

92- 1) may ask 2) are asking 3) have asked 4) are asked

PART C: Reading Comprehension

D

irections: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark
the correct choice on your answer sheet.

PASSAGE 1:

Two major dictionary publishers, Merriam-Webster and Dictionary.com, have chosen “pandemic” as the
2020 word of the year. Merriam-Webster said its decision was based on the “extremely high numbers” of
people who had looked up pandemic in its online dictionary in 2020.

The World Health Organization (WHQO) declared COVID-19 a pandemic on March 11, 2020. The
Merriam-Webster Learners’ Dictionary defines “pandemic” as an occurrence in which a disease spreads
very quickly and affects a large number of people over a wide area or throughout the world. Searches for
“pandemic” on the Merriam-Webster website rose more than 115,000 percent on March 11, 2020
compared to a year earlier. Also, Dictionary.com said searches for “pandemic” on its website increased
more than 13,000 percent on that day.

Other dictionaries also chose COVID-19-related terms as their 2020 word of the year. Britain’s
Cambridge Dictionary chose “quarantine.” It said searches for the word increased in March when many
countries ordered public restrictions to limit the spread of COVID-19. Collins Dictionary, another British
publisher, chose “lockdown.” It said the word represents a uniting experience for people across the
world. Under lockdown in 2020, Collins said “normal public life is suspended” and “we see few people
and fewer places.” It added that lockdown is now seen as “a public health measure.”

93- What is the best title for the passage?

1) The 2020 Word of the Year

2) Major Dictionary Publishers

3) Dictionaries; History and Origin

4) COVID-19; The Sad Tragedy of 2020
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94- Which of the following has been defined in the passage?
1) measure 2) pandemic
3) quarantine 4) restriction

95- According to paragraph 2, searches for the word “pandemic” on Merriam-Webster and Dictionary.com
websites rose considerably ... .
1) after WHO had advised people to do so to get further information about it
2) after they had provided a definition for it
3) on the day when WHO declared COVID-19 a pandemic
4) after they had introduced COVID-19 as a new entry

96- According to the passage, Cambridge and Collins dictionaries ... .
1) chose the same word as 2020 word of the year
2) selected the word “pandemic” as 2020 word of the year as searches for it increased in March
3) were forced to add new entries such as quarantine and lockdown during the COVID-19 pandemic
4) chose words that were different from Merriam-Webster’s choice of 2020 word of the year

PASSAGE 2:
Since 1930, scores measuring intelligence quotient (IQ) have been increasing across the globe. James
Flynn first discovered this phenomenon in the 1980s in the United States. Further analysis found that it
was occurring in every country where such data was collected. This trend is referred to as the Flynn
Effect, an increase in intelligence test scores worldwide with each passing year. Researchers have devoted
a significant amount of study to the effect not only because of its geographic scope but also because the
rise has occurred every year over the past century.

Are we getting smarter? Generally speaking, IQ tests are designed to measure both fluid intelligence and
crystallized intelligence. Fluid intelligence refers to problem-solving abilities, such as looking for patterns
and using visual cues to solve problems. Crystallized intelligence refers to learned skills, such as math and
vocabulary. When IQ tests are administered, the convention is to set the average of the test results to 100,
with a standard deviation of 15 to 16 points. The test score distribution is restandardized with every new
batch of test-takers, such that the number 100 consistently shows the average score of that year’s test-
takers. When younger subjects take older tests, their average score is higher than the previous group’s
average: The Flynn Effect.

97- According to the passage, it is TRUE that ... .
1) researchers have been studying the Flynn Effect since 1930
2) 1Q tests are normally made to have an average score of 100
3) the Flynn Effect has occurred in one defined population group but not in other groups
4) fluid intelligence scores show the skills that have been taught to the test-taker

98- Which of the following can be inferred from the passage?
1) The IQ tests used by the researchers can only measure crystallized intelligence.
2) The Flynn Effect appears to be a local rather than a global phenomenon.
3) The effect first discovered by James Flynn is not unique to the United States.
4) Crystallized intelligence is less likely to be improved through teaching than fluid intelligence.

99- Which of the following would be an example of a skill that is related to crystallized intelligence?
1) Watching traffic to find a shortcut
2) Matching shapes in a set of visual patterns
3) Solving a jigsaw puzzle by putting together the pieces
4) Knowing how to read a storybook

100-The word “devoted” in paragraph 1 is closest in meaning to ... .
1) dedicated 2) converted
3) compiled 4) received
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